
Welcome to download the Newest 2passeasy 2V0-21.20 dumps
https://www.2passeasy.com/dumps/2V0-21.20/ (109 New Questions)

 Exam Questions 2V0-21.20
Professional VMware vSphere 7.x

https://www.2passeasy.com/dumps/2V0-21.20/

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 2V0-21.20 dumps
https://www.2passeasy.com/dumps/2V0-21.20/ (109 New Questions)

NEW QUESTION 1
Which two statements are true regarding the use of firmware update packages in vSphere Lifecycle Manager? (Choose two.)

A. The firmware and drivers add-on can add or remove components from the ESXi base image.
B. The firmware and drivers add-on can be used on clusters that are managed with baselines.
C. The firmware and drivers add-on are distributed through the official VMware online depot.
D. A hardware support manager must be registered as a vCenter Server extension.
E. The firmware and drivers add-on is provided by a third-party vendor.

Answer: AB

NEW QUESTION 2
An administrator wants to enable bandwidth allocation for workloads by using Network I/O Control. What should the administrator configure to accomplish this?

A. Load-balancing
B. Virtual machine traffic
C. NIC teaming policy
D. Management traffic

Answer: C

NEW QUESTION 3
A new vSphere 7.0 environment is deployed with the following:
• A single vCenter Server
• Two vSAN clusters
• A vSAN default storage policy
Which statement is true regarding virtual disk availability in this environment?

A. Replicas will be placed on different disk groups but can be placed on the same host.
B. Each virtual disk will have two replicas of data.
C. All stripes will be placed on different disk groups and cannot be placed on the same host.
D. Each virtual disk will have four replicas of data.

Answer: D

NEW QUESTION 4
An administrator wants to be able to log in to the vSphere Client and view the inventories of two vCenter Server instances. What must the administrator do to meet
this requirement?

A. Configure Enhanced Linked Mode on each vCenter Server instance after deployment is complete.
B. Connect each vCenter Server instance to the same vCenter Single Sign-On domain during deployment.
C. Configure the vCenter Server Management Interface to view both vCenter Server instances.
D. Connect each vCenter Server instance to the same vCenter Single Sign-On domain using the vSphere Client.

Answer: A

NEW QUESTION 5
What is the minimum CPU core requirement for successful installation, or upgrade, of ESXi on a host?

A. 1
B. 2
C. 32
D. 8

Answer: D

NEW QUESTION 6
Which type of network adapter is designed to provide connectivity to hosts and handle the standard system traffic of vSphere vMotion?

A. VXLAN virtual tunnel end point (VXLAN VTEP)
B. VM network
C. Virtual machine network interface card (VMNIC)
D. VMkernel port

Answer: B

NEW QUESTION 7
A virtual machine with a single 100 GB virtual machine disk file has a single 20 GB snapshot. The virtual machine is powered off.
How much additional free space on the datastore is required to delete the snapshot, committing the snapshot delta disk to the base disk?

A. 120 GB
B. 100 GB
C. 0 GB
D. 20 GB
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Answer: D

NEW QUESTION 8
An administrator runs a two-node vSphere cluster, which contains two domain controller virtual machines (VMs). The administrator wants to ensure that VMs run
on separate hosts without interfering with normal maintenance operations.
How should the administrator configure Distributed Resource Scheduler (DRS)?

A. Create a 'Should run Virtual Machines to Hosts' anti-affinity rule.
B. Create a 'Virtual Machines to Virtual Machines' dependency rule.
C. Create a 'Must run Virtual Machines to Hosts' anti-affinity rule.
D. Create a 'Virtual Machines to Virtual Machines' anti-affinity rule.

Answer: A

NEW QUESTION 9
An administrator needs to configure Proactive High Availability (HA) in a vSphere environment so that virtual machines (VMs) do not run on any partially degraded
hosts. The administrator would also like to see the recommendations before VMs are migrated.
Which automation and remediation level should the administrator select?

A. Automation Level - Manual Remediation Level - Maintenance mode
B. Automation Level - Automated Remediation Level - Mixed mode
C. Automation Level - Automated Remediation Level - Maintenance mode
D. Automation Level - Manual Remediation Level - Quarantine mode

Answer: C

NEW QUESTION 10
Refer to the exhibit.

An administrator is consistently receiving an alarm regarding a CPU performance issue; however, there is NO CPU issue identified. What can the administrator do
to make sure the alarm is triggered when there is an actual CPU performance issue?

A. Change 'is below' to 'is above.' Change.'
B. Show as Critical' to 'Show as Warning.'
C. Change 'VM CPU Ready Time' to 'VM Memory Usage.'
D. Change 'VM CPU Ready Time' to VM CPU Usage.'

Answer: B

NEW QUESTION 10
When deploying a vCenter Server Appliance, which two single sign-on (SSO)-related options are presented to an administrator? (Choose two.)

A. Repoint to another domain
B. Reset Single Sign-On password
C. Join an existing vCenter Single Sign-On domain
D. Create a vCenter Enhanced Linked Mode group
E. Create a vCenter Single Sign-On domain

Answer: BC

NEW QUESTION 12
Which virtual disk option allows a virtual machine to consume the minimum storage capacity?

A. Lazy-zeroed thick-provisioned
B. Independent persistent
C. Eager-zeroed thick-provisioned
D. Thin-provisioned

Answer: D

Explanation: 
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.vm_admin.doc/GUID-4C0F4D73-82F2

NEW QUESTION 17
How does vSphere handle memory allocation during the instant clone process?

A. Memory is shared among all child virtual machines using a delta disk.
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B. The first child virtual machine serves as a memory snapshot for any subsequent child virtual machines.
C. An identical clone of the parent virtual machine's memory is created for each child virtual machine.
D. A unique memory pool is created per child virtual machine using copy-on-write.

Answer: C

NEW QUESTION 22
An administrator is troubleshooting a recent failure and finds the following error messages:

Which action has failed, thus resulting in these errors?

A. Virtual machine power off
B. Virtual machine migration
C. Virtual machine snapshot
D. Virtual machine reconfiguration

Answer: D

NEW QUESTION 27
Refer to the exhibit.

Which two statements are true regarding the state of the virtual machine (VM) if an administrator clicks the "Delete AH" option? (Choose two.)

A. No snapshots will remain on the VM.
B. The VM state will match Snap-A.
C. The VM state will match Snap-B.
D. The VM state will match Snap-C.
E. Snap-A will be intact on the VM.

Answer: BE

NEW QUESTION 29
An administrator is unable to manage certificates with the vSphere Client. What is another supported option that can be used to manage certificates?

A. vCenter Server Management Interface
B. Cloud Builder
C. Command Line Interface
D. vRealize Operations Manager

Answer: D

NEW QUESTION 31
Refer to the exhibit.

Which trusted infrastructure component is missing and represented by the area labeled "A?"

A. Attestation Service

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 2V0-21.20 dumps
https://www.2passeasy.com/dumps/2V0-21.20/ (109 New Questions)

B. Key Provider Service
C. vSphere Virtual Machine Encryption
D. Key Management Server

Answer: A

NEW QUESTION 35
An administrator is asked to take a snapshot of a virtual machine prior to an application upgrade. The virtual machine has one standard virtual machine disk
(VMDK) and one physical mode raw device mapping (RDM) attached.
Which statement is true with regard to taking this snapshot?

A. The administrator will be unable to snapshot the RDM.
B. The administrator will be able to snapshot both disks.
C. The administrator will be able to snapshot the standard VMDK in independent persistent mode.
D. The administrator will be able to snapshot the RDM in independent persistent mode.

Answer: D

NEW QUESTION 36
......
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